H & 0l & AHS B Ml A

B%:—ii gszﬂJal(éP#E%%ilﬁl) (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
HSH2=AIE A 12,738,511 7,523,892 5,214,619
= 401,000
s 1,478,000
| 3,402,928
= 59,900
o 7,396,683
2N 12,738,511 7,523,892 5,214,619
= 401,000
s 1,478,000
| 3,402,928
& 59,900
= 7,3%,683
St 2el(ot==S83H) 12,738,511 7,523,892 5,214,619
= 401,000
s 1,478,000
| 3,402,928
& 59,900
i 7,3%,683
ot 2el ¥ 2Z 791,912 530,712 261,200
201 2| 5,072 4,872 200
01 At 22|l 3,072 3,072 0
O ORIZSX 22|
8,000 x4 H 8L 1200 & 3,072
02 23244l 2,000 1,800 200
O4dts== g3l 2,000
202 Odt| 3,840 3,840
01 =LHOLI 3,840 3,840
Ottt RAE 23 o]
20,0002 4B #4120 = 3,840
401 AIEHIZ 28I 783,000 522,000 261,000
01 AlEHI 780,000 520,000 260,000
O33ct==2H HE= 270,000
—ot=2H &4 70,000,000 14 70,000
—ot=2)] 2USMES(E4=,HY ALK
100,000,000 14 100,000
=5t 2SME>(EAHL A, A A
=) 100,000,000 * 14! 100,000
Odt==2tH XIgtasr 2 50,000
—XIgt&st 215 E=
50,000,000 * 14! 50,000
OSHBLY FHMO0 AlIAH 240,000
—SHEZZAANMOAIAE 600
40,000,000 3 *6H 2 240,000
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2A:
X XH -
o e

=aak

S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Oti=&HlEE ARAIE & cotvES
20,000,000& » 14 20,000
OARL20ISst=HMelAIZHM (58, 0r) 200,000
03 A& S THYI 3,000 2,000 1,000
Oot=E 22| & 24 3,000
BAJIEANE2Y XA (Gl &) 4,112,000 3,612,000 500,000
Jl 2,177,000
= 1,935,000
307 lztol & 4,112,000 3,612,000 500,000
Jl 2,177,000
o 1,935,000
05 2I2tRIE S 4,112,000 3,612,000 500,000
OBZSI+HRIAIL Z2I0HE A 3,762,000
— &4 ZTEAHRIAIL
1,255,000,000& *14] 1,255,000
Jl 887,000
[Ea 368,000
— & S3ot==HlAlE
1,626,000,000& » 14 1,626,000
Jl 897,000
Ea 729,000
—d& BS0l=HelAld
481,000,000 *14] 481,000
Jl 225,000
[Ea 256,000
—2n2 S3otHelAlE
400,000,000 » 14 400,000
Jl 168,000
Ea 232,000
O33cteHelAlE 2eiUd At (2HI) 350,000
—&tK BB0t=HelAlE
200,000,000& *14] 200,000
—9e S3ol=XlAlE
150,000,000 *14] 150,000
BZIIZANER2Y X (St=HelE) (=) 88,000 18,300 69,700
=S 26,400
s 61,600
401 Al HIZL S 0HHI 88,000 18,300 69,700
< 26,400
[Ea 61,600
01 Al&HI 88,000 18,300 69,700
O3&ot-Hel e JLAHEES
22,000,000 #40H 2 88,000
= 26,400
= 61,600
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A MES2SAEA
e
cel: St 2el (St SE3) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BRI =ANE2E XA (St=Held)(012) 1,342,030 631,000 711,030
Jl 418,030
= 924,000
201 er2 3| 59,000 59,000
01 AtR2te|Hl 59,000 59,000
O33ot=HelAE 22l 3,000
OBToH4HRIAIL R2Ithe HDHE
56,000,000 * 14! 56,000
401 Al HIZL S 0HYI 1,143,030 510,000 633,030
Jl 418,030
= 725,000
01 Al&H| 1,143,030 510,000 633,030
OMSH =D RA2e] 4
75,000,000 *30H 2 225,000
OBZTBI+HANE 22 HES
718,030,000 *14] 718,030
Il 418,030
o 300,000
OstrRE B B
200,000,000 x 14 200,000
405 KHaHF S| 140,000 62,000 78,000
01 ML ESFSHI 140,000 62,000 78,000
OMBI=RZIE TN, TPEEIII 72
70,000, 0002 *27K 140,000
=HMelAlE 2t 3,630 4,910 A1,280
201 =3 3,630 4,910 1,280
01 Al 22IH| 2,750 2,750 0
OR4HeIAE £B2AA
25,0002 *109H 2 250
OJfelst=xelAld E22 M 500
O2=+x2AE2d0 HE ARESS 7 2,000
02 s3=gHl 880 2,160 1,280
OFSZ URaAs o2 SBwsR
25500 *4=2 )| 880
HIEQEMZAS (ASSK &1 & 242) 44,139 43,170 969
Il 30,898
= 13,241
101 @124H| 44,139 43,170 969
Jl 30,898
Ea 13,241
04 JIZtN22 XS 2+ 44,139 43,170 969
OelEsAl 2l eIFY 44,139
—Jl2=s 78,9003 x2H 200! 31,560
Il 22,092
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A MSHESSAMEL
HMEH: AXIE X
o e —

ool giiga(aﬁ%gwn (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 9,468
— =25+ 78,9003 »2& 452 7,101
Jl 4,97
[Ea 2,130
— ¢ x==g 78,9002 x2& x102 1,578
Jl 1,105
= 473
—28= 3,900
Jl 2,730
s 1,170
HESMZAH(AISK X 2 2el)(2H]) 18,800 2,800 16,000
201 223 6,800 2,800 4,000
01 At22t2ltl 5,300 1,300 4,000
Oelssil HHES 7Y 1,300
O=s&Al et 2 1,000
Oels&Al 22l &l Sxtz 3,000
02 S3=gHl 1,500 1,500 0
Oelssil &llks S 1,500
401 AIEHIZ R 0HYI 12,000 0 12,000
01 Al&HI 12,000 0 12,000
Oelssil 28 2+ 12,000
St=Eol HX ¥ 22| (G2 2FH]) (X7 ot 1,956,000 200,000 1,756,000
ZEHIAI)
= 978,000
[Ea 978,000
401 AIEHIX R0 1,956,000 200,000 1,756,000
[ 978,000
s 978,000
01 AlZ8| 1,800,000 200,000 1,600,000
OF=Xl7 ot=2Z ZHIAIY
1,800,000,000& 1,800,000
= 900,000
s 900,000
02 Zeltl 155,000 0 155,000
O&==Xl-ot=2tZ FHIAIE 2eld]
155,000,000 155,000
[ 78,000
o 77,000
03 A& S CHYI 1,000 0 1,000
O&=Xlot=22 FHIAIY AIE20HHI
1,000,000 1,000
St=E2 #X ¥ 2e|(sHE DiScts+=E FHI) (28 1,079,000 207,000 872,000
X=)
= 301,000
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2A:

E M

SEE (crel @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 777,000
s 1,000
401 AlEHIZL S0 1,079,000 207,000 872,000
= 301,000
Jl 777,000
2 1,000
01 Al 1,078,000 206,000 872,000
QRXIT DIS3I4E HHIAIY
1,078,000,000& 1,078,000
= 301,000
Il 777,000
03 AIZSTHYI 1,000 1,000 0
OQIEXIT OF25HEE HUIAY Al&=THY|
1,000,000& 1,000
s01E O0tSot== ZHIAFS (XA 2,303,000 1,609,000 694,000
401 A2 HIRL R 0HbI 2,303,000 1,609,000 694,000
01 Al&H| 2,300,000 1,600,000 700,000
O+ &ot+-22 JUIAI 1,000,000
O At 0I=0t+= SHIAY 1,300,000
03 AIZ2THYI 3,000 9,000 26,000
OsHE OISot=ZFHIAIE AIZ R0 3,000
St=Eo &1 & 2e(sHE OtSot+==ZH|) (S &0t 167,000 500,000 A333,000
S5t+=E=8Hl)
= 100,000
= 33,500
Ea 33,500
401 AlZHIZ S OHYI 167,000 500,000 /333,000
= 100,000
= 33,500
2 33,500
01 Al&H| 166,000 500,000 334,000
OSS0ENSHEE FHIAY
166,000,000 166,000
= 100,000
= 33,500
= 32,500
03 AIZSTHYI 1,000 0 1,000
OsdsUHENSo+=HUIAIE AIZ22U
] 1,000,000 1,000
St=o #X & 22/ (G222 FZHI)(ZHKXIF otz 833,000 0 833,000
ZHHIAIY)
= 500,000
= 333,000
401 AlZHIZL RO 833,000 0 833,000
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A MSHESSAMEL
e
el St 2el (st SE3IH) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 500,000
= 333,000
01 A=l 833,000 833,000
OFAX T ot=22 HUIASE
833,000,000& 833,000
= 500,000
[ 333,000
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